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4 HNO4(I) + 3 KCl(s) — Cly(g) + NOCl(g) + 2 H,O(g) + 3 KNOj(s)

Question: KNO; & 110.0 ¢ Bl 3cUedd &idd & o HTaeTes HNO; &l AT § -
(feam aram %: H. O. N TG K & UIHATY] FeHATT FHU:1, 16, 14 TT 398 1)

A: 3224

B: 69.4 g

C: 91.5¢g

D: 1625 ¢

Topic: Chemistry-Section A

Item No: 62

Question ID: 1269462

Question Type: | MCQ
ciIer 4 Folorgiall &l Fdicd HEIW g 78 § -

A n=3, 1=2 mj=1, m, =+l2
_ B.n=4,1=1,m=0, m =+1/2

Question: C.n=4,1=2,m=-2,m, =-1/2
D.n=3,1=1,my=-1.m,=+1/2
AT & d929 & T FH E

A: D=<B<A<C

B: D<A<B<C

C: B<D<A<C

D: B<D<C<A

Topic: Chemistry-Section A

Item No: 63

Question ID: | 1269463

Question Type: | MCQ

Question:

C(s) + O(g) — CO(g) + 400 kI
C(s) + %02(3) — CO(g) + 100 kJ

G 60% YEAT F BTl I HUAE HFdrea $Hr 3uRYTT & Farar J1ar
¥ a7 A F60% JOT:CO'H T AW WO CO,° F Uiafad & e ¥
0.6 kg @I &I Tellel UT ScUedd FCAT & -

1600 kJ

3200 kJ

4400 kJ

9| Q|® >

6600 kI




Topic:

Chemistry-Section A

Item No: 64
Question ID: 1269464
Question Type: | MCQ
0.01 M HCl is % 200 mL 1 0.01M H,SO,, @ 400 mL @ 91 fHeiran a7 | faygor
Question: PIpH T
(]%'JQTW% :1log2=0.30.log 3=0.48.log 5=0.70, log 7=0.84, log 11 = 1.04
A: 1.14
B: 1.78
C: 2.34
D: 3.02
Topic: Chemistry-Section A
Item No: 65
Question ID: 1269465
Question Type: | MCQ

= g i & wiede g for o €

Eie: wifeds ag (K)
He 5.2
CH, 190.0
Question: €O b
NH; 405.5
TRGA B T ST AT T TR AR vefidia wie aer 5
i
A: He
C: COE
D: NH3
Topic: Chemistry-Section A
Item No: 66
Question ID: 1269466
Question Type: | MCQ

Question:

{1 (Sn) & feru Sugi fobu 71 grawe- ufshan & erg




A: Dt o & Iy AfNfHTT T Ted B
B: DI FaHEd & |
c: BRI ¥ J AR I A W g &d ¢ |
D: P NaOH & I Gfad I € |
Topic: Chemistry-Section A
Iltem No: 67
Question ID: 1269467
Question Type: | MCQ
SIEECCASICeR) o
Question: W_I:@jj&wﬁamswwwmél
' YT - II: ¥ Uh FHddd [ |
Sad Bl & HYR TR A1 G0 T fapedi § 3 9ad ggt SRk & I |
A: DU -10d HUYT - 11 SHI Tal g |
B: BYA-1Ud HYF - EH T © |
C: TUF -1 Wel 5. W PUA - T © |
D: T - 1700 6. g DU -1 TSI ¢ |
Topic: Chemistry-Section A
Iltem No: 68
Question ID: 1269468
Question Type: | MCQ

gidds W< H X gAY §ia1 & ol 59% Ue g1 & IHg Bl §grdl s | X

Question:

GUI

) 7

A CaS0y = H,0
B: CaS0O,4 - 2H,0
C: CaS0y,
D: CaCO4
Topic: Chemistry-Section A
Item No: 69
Question ID: 1269469
Question Type: | MCQ

Question:

g IR DI TP WeAq & JU TR CoO & 1Y TH $d &, Al
SHIUBIRT ¥Y ¥ [P SR e 1 $1 JiUE] §441 6. 98 6 -




A: B,0;

B: Co(BO,),

C: CoB 404

D: Co[B405(0H),]
Topic: Chemistry-Section A
Item No: 70

Question ID: 1269470

Question Type: | MCQ

e § HieH R Fafeiad J 9 @141 3d UTd $1g- A siadle gl

Question: (ﬁh}-dH) > % s

A C2t

B: MnZ™

C: Felt

D: Co-™

Topic: Chemistry-Section A
Item No: 71

Question ID: | 1269471

Question Type: | MCQ

Cu(ll) & SHFHAD THd IEATHD [aP1d (SH-caR) HeRid dRd & | fau

Question: Y Cu(IT) WPl § SHH-I1 HUFaH IS A d HaRid ST 2
(en— : H,N-CH,-CH,-NH,)

A: [Cu(H,0)5]50,4

B: [Cu(en)(H,0),4]S0,

C: fHE-[Cu(en),Cl,]

D: ¢I-9-[ Cu(en),Cl,]

Topic: Chemistry-Section A

Item No: 72

Question ID: 1269472

Question Type: | MCQ

STEAECIo U Holgd U] ¢ dih g Jod SAaidl UR [ohdl SR Haurgs| &1

Question: 101 SR § | AISCioF B JauIgs Sl uidl &1 uRidl &1 JHaH ggal 9ol
© 3R YT YU DI A HRATE. 98 S -
NO

B: NO;




D: NO;
Topic: Chemistry-Section A
Item No: 73
Question ID: 1269473
Question Type: | MCQ
Question: - HAE TR a PeCSeSs B Jol TR & :

)
A: H

i
B: ~ : ~CHy —C—H
O
|
C: H
i
CH,—C—H

D:
Topic: Chemistry-Section A
Item No: 74
Question ID: 1269474
Question Type: | MCQ




TifereF A TRt & SeafefaT &7 F sutea IifFeF B @ AT
FET & | i B A T §IEET 04 R § o
[STel Et%- C,H:]

Question: >_< (i) Mg, EtpO B
(i) DO
Br
e A
A: >_< . HPIRT
D
. > omm
oD
C: >_< REAERT
D
D: oD’ HADIGIT
Topic: Chemistry-Section A
ltem No: 75
Question ID: | 1269475
Question Type: | MCQ
dr & Fyea fer o § -
CH,
| NO,
HUT - I: e [#H gEu quiE §
o
Question: CHy (&)
CH,
we - 11 02 | SUgw Iifdes & guor ufafera & |
H S,
s CH;
IULE FUAT & HYR | @ Gy ov feredt F ¥ waifs @@ s
ks
A: HYT- 1 TG HYT- 11 S T8I & |




B: YT - 1T HYF -1 SH Tad & |

C: HYT- 1 Uol g, W By -117Tad ¢ |
D: BYT - 1717 8, TR DY - 1 HBI § |
Topic: Chemistry-Section A

Item No: 76

Question ID: 1269476

Question Type: | MCQ

e TUATA B A% H,S0,, & 1Y 7T $=d & dl U@ 119 Sodd el 6 | 39 1

Question: DI TR AMDHHP & F. T oiiid [dad- & 1Y ITARd I3 R farf=a
W% :

A: BIHCeERS
B: BlHe o
C: ERIEEA]
D: TS 3
Topic: Chemistry-Section A
Item No: 77
Question ID: 1269477
Question Type: | MCQ
Question: fegatf sifireds g .

0]

Il |

_ w—

A: Il

0

N," ClI
- O
8]
C: N K
4]




o

D:

Topic: Chemistry-Section A
Item No: 78

Question ID: 1269478

Question Type: | MCQ

Question: Teareg d ¥ #9-31 T ‘:I'@%EF dgeleh F-ng' )
A: IGG]

B wrE

C: &}

D I3

Topic: Chemistry-Section A

Item No: 79

Question ID: 1269479

Question Type: | MCQ

T FYFRU T | TP HUBYT A U4 TR B PRUTRT |
YT A T oa ¥ 3fdaa g |

Question: | T r: TtTe 200 F 31 TR TE SHTEEl aTe TE YeH 4 SR |
Sad Sl & HYR R A1 (G0 T fGpedi § 3 gad ggt SRk & 7 |

A: A TG R S TE1 € TUT A B Tel ARATR € |

B: ATIREHI TSI S AU A DI T8I AR R TBI € |

C: ATRI 5. RGRITATE |

D: ATAIE. RIRIDE |

Topic: Chemistry-Section A

Iltem No: 80

Question ID: 1269480

Question Type: | MCQ

i <X U gad 3% § a4l 98 NaOH & CH;COOH U SaRIHIGu &

Question: | Jeiep farg & pH & SMTH-UTH T IR WaRid Hal ¢ | A X &Ry
e § GG 9§ umi o g | afie X e -
A: flﬁf‘[x’rm




HiUas

C: AN
UROIm I &% T

Topic: Chemistry-Section B

Item No: 81

Question ID: 1269481

Question Type:

Numeric Answer

HOae RIS (0,) F x’ ¢ Bl TG (Ne) & 200 ¢ & U G TR 1 0,
T4 Ne & Sffgrareiia fHyo & Rftise € 8@ 25 bar § | T A9 T4 M0 |

Question: Ne &1 fAHF SE 20 bar 8 | ‘x FIAA__ B |
IERIRIE] & 0, &1 HIeR G0N = 32 g mol !,
Ne T HIeR o049 = 20 g mol™!]

Topic: Chemistry-Section B

Item No: 82

Question ID: 1269482

Question Type:

Numeric Answer

PF.. BiF. PCl;. SF. [ICL,]. CIF; 3R IF; | fG9R S |

Question: SR S{U[3fT / ST § Y U/ 313 foe1 G0l spd? §. H1 Hee
&

Topic: Chemistry-Section B

Item No: 83

Question ID: 1269483

Question Type:

Numeric Answer

62.5 cm” UYUAIT H U fdaid A & 1.80 ¢ I °Idl 791 91 [dqa- &1 fgHiD
1551 K91 | Tdg AP AR So0HH_ gmol ' B |

Question: (e T &: UATa P feHi® 156.0K © |
Qﬂ:ﬁaﬁm 0.80¢g cm™ % |
AT B feHi® 3G9 fRRRI® 2.00 K kg mol'L § 1)
Topic: Chemistry-Section B
Item No: 84
Question ID: 1269484

Question Type:

Numeric Answer




TP 9a
Cu(s) | CLIZ_(D.ﬂﬂIM) ||Ag™ (0.01M) | Ag (s)
& T 208 K R UA faUT 0.43 VI TG | Cu?™/Cu & [T TF® S0acis

Question: | fp@HTAM__ <102V E |

[ﬁtﬂ TE:ES | =080 Vam 2308RT_ 4 06v

Ag [Ag

Topic: Chemistry-Section B
Item No: 85
Question ID: 1269485
Question Type: | Numeric Answer

T ofifey i gf ®vd gU ue Us 4 U g&u Isdl ufged d x forae!

HGHTG 30 TH €. BT 1 AT B AN B T g | 100 I8 @l IS T X B

Question:
ARG, a8 =< 10lug® |
[T T - In 10 =2.303; log 2 = 0.30]
Topic: Chemistry-Section B
Item No: 86
Question ID: 1269486

Question Type:

Numeric Answer

Na[Co(bpy)Cl,] T PIdTee P HIRITHRUI 3awT ( GRHATN ) Ud GgHgia- T
A B

Question: / \ / \
(@_‘Eﬂ RIEs]| % : bpy = )
W N =—
Topic: Chemistry-Section B
Item No: 87
Question ID: 1269487

Question Type:

Numeric Answer

e P DB - U T T3l | [g=R Sifon -

Question: H,S0; . H,S0, ., H,$,04 Td H,$,0;
20 T GRS (0-0) =] T SHTFI3] i FE& gl
Topic: Chemistry-Section B
Item No: 88
Question ID: 1269488

Question Type:

Numeric Answer




92.0 g/mol FITR So0H ald Th UITeesia® Uedigicl difT® <X & 1.84 mg

Question: feeel  STP IR, H, T B 1.344 mL U BT | AiffTep «x° H Sulyd e iglalt
HERISRIEAREE:] g

Topic: Chemistry-Section B

Iltem No: 89

Question ID: 1269489

Question Type:

Numeric Answer

(+)Ph(C=0)C(OH)(CN)Ph Ud HCN &t {f¥ifehan ¥ faxf=a fAafen goragdi ot

Question:
uest Sereal) & | [T81 Ph § -C4Hj]
Topic: Chemistry-Section B
Iltem No: a0
Question ID: 1269490

Question Type:

Numeric Answer

Question:

SSYEHG H FaRIA WS &1 % g |




